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-EE3SE 45,000,000 45,000
Osd2Jl M 4,000,000 4,000
02 S3=gHl 78,000 73,000 5,000
Oxall QEYS Q= 78,000,000 78,000
301 2= 4,800 3,600 1,200
14 JIEt2 8= 4,800 3,600 1,200
OF X & SN0tE g3l o432 XS
20,0003 x20E « 12 4,800
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2A:

OICIHE 21

M FA0ICAIIE
ool RHYA0ICINS 2HX ME IS (crol: m2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 TR ESF SHI 6,000 0 6,000
OR%E 484l 7Y 6,000,000 6,000
23 & 2SN I 25 6,034,244 5,037,951 996,293
< 338,880
T 5,695,364
ZESIMER2E 1,646,548 1,353,744 292,804
dat2d @ Abi2el 1,069, 140 824,873 244,267
201 L2 404,305 338,330 65,975
01 AtR2telb] 41,365 40,070 1,295
OEESHA =24 1,000,000& 1,000
O=ALEX 204 50,0003 x28t A= 128 1,200
OZZ200IH S22l u=s, 22235 M)
1,250,000& 1,250
OCIOIED Y A2t = (2 AHI)
110,000& « 122 1,320
OFBSUY SAD| UXE
400,000« 1CH* 122 4,800
OSHIOIKI 2180l MHIA 0182
300,000 122 3,600
ORFHMAAEX HiE2l wH
250,000 #3004 7,500
OSQIALIHT LAY
80,000 »8CH =128 7,680
ORgiAegd+ 4225 F10H 13,015
-SALHEX 60,0002 *19CH~48t A 4,560
-doIMEeH A2F 310,000 »19CH 5,890
-HEEH 135,000 *19CH 2,565
02 2324l 362,940 298,260 64,680
OHHEEAIAH SERAES
25,250,000 123 303,000
ORCIDIALZET RAES
155,000& x 190~ 123 35,340
ORALTHP ®IE
100,000& +3CH+12& 3,600
OUE SHIOIXI KX
21,000,000 21,000
202 044l 9,600 12,900 23,300
01 ZLHA LI 9,600 12,900 23,300
Oddt2d 22 o 9,600,000 9,600
207 AN 209,600 22,000 187,600
02 HAHE] 209,600 22,000 187,600
OZHOIX 28 e & 83 e
209,600,000& 209,600
308 AXIHMSOIA 105,600 105,740 A140
11 SIS0t 4R AS AL S 105,600 105,740 A140




2A:

B Hos Q HUSA o As
chel: FESANE2Y (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OSLiiAAg Sanel A+aaoa
10,000,000& 10,000
OBEIILAAY SXL4 A+eraora
89,000,000& 89,000
OSSIIBAIAE MEIAOAD 2 &
gotgd 6,600,000 6,600
405 KHFSH| 340,035 345,903 Ab,868
01 ML =ZFSHI 340,035 345,903 Ab,868
OYRXEE LEZ 2
1,955,000 *2CH 3,910
OSIALZE 2 PC 20K
1,200,000 *3CH 3,600
OFBAAEY THllEF &84
266,000,000& 266,000
O2eol RABL &2H
13,825,000 3 * 14| 13,825
ORI 2| E2E(UZ2210IHE) HA g1
diole 13,200,000& 13,200
OX2A-E N JIsSHA 2ol A 04
2,500,000& 2,500
OZHI0IX ZAMX A8 01=
20,000,000 20,000
OoBLS3 &234H 17,000,000& 17,000
AREE AZEQ (N 22 206,448 173,307 33,141
201 Ler23H| 181,248 119,768 61,480
01 At 22|l 181,248 119,768 61,480
OgERE AZEN 04 131,768
-2-Lieh Jlet AZEQ POH(BAIAH 3
E ) 90,0003 x580= 52,200
-AIRE IA S& WIIXI(BERE)
248,840 3 *200= 49,768
-0|0IX HE D=2 )& A2t 0|2
550,000& *302 16,500
-2 O|0IXl CIXtel S&F THIIXI
1,300,000 =12 1,300
—LEX A2 2ol A 204
11,000&*1,0002 11,000
-OI0Ie 224 L A3 AZEN
1,000,000& * 1= 1,000
OUIOIH A BHAI ALSIHE A4
21,2003 +1,1002 23,320
ONHE gal 228 44l 14,560
2R AHE 433,000& 102 4,330
2lsA/RYA AHE
310,000 *33& 10,230
OZHI0IXl 2ol BHAIIZZ 7]l Al
6,600,000& 12 6,600




2A:

M NE5 Y HESA o2 243
chel: FESANE2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUt0lS A BHAl HIOIME 22| AIAE Al
5,000,000& 1= 5,000
405 AtatE = 25,200 25,200
01 ML ESFSHI 25,200 25,200
OAH 2¢t S 204
2,520,000 10= 25,200
dEstus g 29,820 71,804 A41,984
201 2= 14,220 9,504 4,716
01 At22telt] 14,220 9,504 4,716
OUXIEsSH 225 +0H 2,700
-S4, 32, U4 F2HDSY, =o=7|
o 600,000 *40H A 2,400
ORIDS(SY F2HDSY)
300,000 300
OUXEtHSE w 01
8,000& 302 x 1200 2 41 2 11,520
301 EtE NS 12,600 12,600
14 DBt 23 12,600 12,600
OF0EE3 WSAME A=<
30,0003 420 A1 2+ 12,600
405 AtaHE = 3,000 49,700 A46,700
01 TR =SFISHI 3,000 49,700 A46,700
OF=Estusd ddE 2LH £X
1,500,000 #2042 3,000
HIHEES 2te 49,280 26,000 23,280
201 er23| 3,500 2,000 1,500
01 At2teltl 3,500 2,000 1,500
ONIEEES WE(ZAHI)
500,000 22 1,000
OMIZEES 22 MA (U 2IES
s) 1,000,000& 1,000
OMNEEES XIS SAIAE
1,500,000 1,500
202 04l 480 480
01 =LHAHI 480 480
ONIE2ES Xl & 8 0l
480,000 480
405 AtaHE = 45,300 45,300
01 L ESFISHI 45,300 45,300
OZ=ZAIAH JHIEE SSIH £=24
45,300,000 45,300
FNH =23 KA 291,860 257,760 34,100
405 AHaHE = 291,860 257,760 34,100
01 AL =S F=HI 291,860 257,760 34,100




2A:

X XH -
o=

=
e @wiwggé B (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIS RE 2H M
1,500,000 *150CH 225,000
OZUE 0K 300,000 *200CH 60,000
OXZgle 20K 6.860
-Z2IE (M) 0 320,000 «8LH 2,560
-2 ZElH (M) oM 1,200,000 *1CH 1,200
-2 Z2EH (A3) oK 3,100,000 «1CH 3,100
2SS 29 1,067,742 1,232,997 175,255
s 4,320
s 1,063,422
SeE2g 2el 348,335 312,192 36,143
101 e124d| 20,107 21,586 A1,479
M ORNZZ2NSE S 20,107 21,586 A1,479
Ougtd JIZHN22 A 2= 20,107
=0 2,010,580 «6& 12,064
-AXt=E 76,9602 «8 616
-AEIEE0I 2RSS 12,676, 1602 *11% 1,395
-E2Z3(3H) 2,010,580 +3 6,032
201 Ler23 | 238,108 260,486 N22,378
01 At22t2lt] 5,370 25,180 A19,810
OZEstla A2F 04 3,450
-UTPAI0I= 120,0003 102 A 1,200
NS 2= M 35,0003 %102 A 350
-=g 150,000 48+ A 600
EPNIN 1,000,000 *14] 1,000
A EEAMNE ARE 300,000 14| 300
ORFNMAEXI(UPS) HHEIRI WX
60,0002 *16IH*20H 2 1,920
02 s3=gHl 232,738 235,306 A2,568
OCIHHU S AHBE 67,392
-JlE= 616,000 122 7,392
=USa= 1,500,000& «12& 18,000
-0ISSUMNE= 3,500,0002  12& 42,000
O2EtdS 23 14,100
-JlE= 3,000 x252] &4+ 122 900
=USa= 700,000 * 122 8,400
-OIsSUMEZ 400,000 12& 4,800
OFUE ENdSEE
263 +140,00024 128 43,680
Oclgdzgld= 18,996
-QIHUESHES Yl g
350,000& 122 4,200




fAM: DICIHEEn
B Hos U HUSA o As
o2l 2SS 29 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SE3usE AHWBNE (S, Ud)
600,000& 22| &+ 12& 14,400
-NgA ASO0IHE 2182
33,0003 * 18] &4+ 123 3%
OZ320IT0] IHASIMZ
33,0002 49| &+ 123 19,404
OHEsld AEZ 15,444
2HME= 33,0002 3423|6123 13,464
-3|& 0t o]
33,0003 +52] &4« 123 1,980
ORHSA ME= 6,360
-2HY HHER ASE
50,0002 +5CH* 12 3,000
-Ad&sI AEZ
35,0002 +8LH* 12 3,360
OAMNEE H)| FESUFHE 850
-Hateld= 5,000 x22| & x102] 5 500
-eleald = 35,0003 %102 350
OANIENEYS 28 A& 8,712
=08 3 JIEE
2,200 +302] &4+ 12 792
-HAE B JIEg
33 *20,00021x 123 7,920
OFUSAEZ F Al
20,000,000 *14] 20,000
OArEE AL SZEHl =]
2,800,000& *14] 2,800
ORHSESAIAE R
250,000 6074 A 15,000
202 04t 7,680 12,120 N4,440
01 =LHOHI 7,680 12,120 4,440
OSAE HRFA 0l 7,680,000& 7,680
405 AtatE=H 82,440 18,000 64,440
01 Tt =S F=HI 82,440 18,000 64,440
OB THFMAIAE && S/W 04
58,000,000 * 14| 58,000
OSTHESAIAE A2 S/W 204
24,000,000 * 14 24,000
OBBIIYE 2UYA DY
440,000 *14] 440
dEEs % AL 29 695,007 627,163 67,844
201 =3 460,207 511,163 A50,956
2 S22l 460,207 451,163 9,044
OEBESAAE RlExE
52,110,000 * 14| 52,110
OEMTAl BZENY STPE4E
25,864,000 x 14 25,864
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2A:

X XH -
o=

a= LSl
thel: 234 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFUSSEESNY RAE+=
54,316,000& x14] 54,316
OREEE EXNAIAE 2|
5,608,000 * 14 5,608
O=IEE2SAAMHIA Bldg 262,200
-4 417,0002 x182] &4+ 12 90,072
-2 262,0002 332| & * 12 103,752
51K 219,0002 x212| &H* 122 55,188
256K 157,000 72| &+ 123 13,188
OCIHANSAAE RAESE
34,740,000 * 14| 34,740
OADIENISYSAIAY |RAE2
13,308,000 x 14 13,308
OHHSUAAE S22
12,061,000 * 14! 12,061
405 AHAHE S 234,800 116,000 118,800
01 It =S F = 234,800 116,000 118,800
OBAMHIAY HUUTAALY DA 72
43,000,000 * 14 43,000
OQIHY KHAIOIE XHEAIAE WA F
70,000,000 * 14 70,000
ONZREYUXAIAE WX 115,000
—HEAYH 2EMMH 2
15,000,000 * 14| 15,000
-MNEFEYA ALY 7Y
100,000,000 14 100,000
O=eHA i 7 6,800
—SHeHMA J1J| WA 300,000 *1CH 300
-SHoHMA ASTHH WA
6,500,000 14 6,500
sENG FUESEY 2= 14,400 19,200 24,800
= 4,320
o 10,080
402 2I2FX=01 & 14,400 19,200 4,800
s 4,320
s 10,080
03 2IZHAETAIHHI 14,400 19,200 24,800
Oszld ZUgsSEy 7=
14,400,000 14,400
< 4,320
s 10,080
g2l 3,329,954 2,451,210 878,744
= 334,560
Ea 2,995,3%
SE2NME 29 1,628,3%4 1,496,218 132,176




2A:

B Hos A HUSA o As
el FYYEEI 2L (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 290,750 268,664 22,086
03 SR (RINAHA) 222+ 250,920 228,744 22,176
OSE2NHE SIHA2ZA 2=
3,485,000 x6H 123 250,920
04 JIZtNZ22 XS 2+ 39,830 39,920 A0
OSE2MUE JIZNZ2XN 2= 39,830
20 2,005,770 x2S +6E 24,070
-AEIEE JlERg2
24,070,000 *11% 2,648
-AXt=E 67,3402 x2 & +8L 1,078
-Ex=3 12,034,000& 12,034
201 2= 1,071,464 1,034,494 36,970
01 At22t2l] 31,700 39,190 AT,490
OSBHHE Lsagt|
3,000,000 3,000
OSSN F=D] Xz
50,0002 123 600
OSEZHHE MAHE HAZZ ) HY 28,100
B apat= 450,000& x22=2 9,900
ALRE 350,000& x52= 18,200
2 s5=34l 1,039,764 995,304 44,460
OZESHY HEIHZ (2H-USHEHA
) 600,000 * 12 7,200
OZAHEHMIDI| RB(HE0IHNS, Mt
LHE, SENSLEE) 621,264
-HEIH= 75,000 %6022 &4+ 12 541,800
“HIINES 11,0002 #6023 &+ 123 79,464
Og4EEANINI| 2=(2028E A7 £X2) 10,320
-HEIH= 75,0008 x202| &H+63 9,000
“HIIANES 11,0002 x202| &H+6E 1,320
OS&EEXNIII RX
136,000,000 136,000
OSEZHMHEH SXI2 264,980
-SY2MME ALY SN2
166,820,000 166,820
-SEE2AS ALY FANE+
98,160,000 98,160
202 04l 7,680 6.860 820
01 =LHAHI 7,680 6,860 820
OSEBAE A2%T ol
7,680,000 7,680
405 AtatE=H 258,500 176,200 82,300
01 Tt =S F=HI 258,500 176,200 82,300
OHE2AMAIAE =0t 25
58,000,000 *14{ 58,000
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2A:

B Hos A HUSA o As
el SyEEEgE2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OlPZte| AIAE WX 85,500,000& * 14| 85,500
OSE2AMHE HI2AIANLE A5
75,000,000 *14] 75,000
OSE2HHE B2EMH WAl
40,000,000& *14] 40,000
ZSstu CCTV HAHAY 334,560 304,992 29,568
= 334,560
101 21AH| 334,560 304,992 29,568
== 334,560
03 SR (RINAHA) 222+ 334,560 304,992 29,568
O=SstulClV 2LIEE 2IIHS22 4 2
&= 334,560,000 334,560
= 334,560
OtM FAEE XD 2= 497,000 650,000 153,000
401 AlEHIZ 201 497,000 650,000 A153,000
01 Al&H| 497,000 650,000 153,000
OdgtNE go4dExXelIIl X
15,000,000 * 1094 £ 150,000
Oxtgdds Jo4dEXceIIl X
30,000,000 *3IH 2 90,000
Ok= AEEX2III wH
3,000,000 *79CH 237,000
OgadExelIIl &4l ol
20,000,000 20,000
Az #=E SHUSII(MEMEH M) 870,000 870,000
401 Al HIZL S 0HHI 870,000 870,000
01 Al&HI 870,000 870,000
OsZ0EdE JY4ZEN2D! EX1(S
H5 SUieel) 10,000,000 *2IH 2 20,000
OsZEitsadg 420 EX(S
48 g=22l) 15,000,000 * 10 2~ 15,000
OsEltedg SYF2EHI0 EX(S
g5 B332) 15,000,000 *29H A 30,000
OsZ0EdE JY4ZEN2DPD! EX1(S
g8 24i32l) 10,000,000 #2902 20,000
OsZEitsadg 42l EX(S
H48 2462]) 15,000,000 *29H 2~ 30,000
OsElteadg SYFEHI0 EX(S
845 ZRal) 10,000,000 * 100 A 10,000
OsZ0EdE JY4ZEN2DPD! EX1(S
a5 AlF1el) 15,000,000 *2IH 2 30,000
OsEitsadg SYFEHMeI0 EX(S
25 d32el) 15,000,000 *27H 2= 30,000
OsZE0sdE JoZEM2D] EX1(S
845 dl&se) 15,000,000 *29H A 30,000
SENSANE JH4FESHIPDI XIS
a5 z=&2el) 10,000,000 *2IH 2 20,000
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2A:

B Hos A HUSA o As
el FYYEEI 2L (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OsZ0IS2ds JAF2HD| &X(3

28 f322!) 15,000,000 *27H 2~ 30,000
OsZEiteatdg SYFEHMI0] EXI(=S

25 FH2el) 15,000,000 * 10 2 15,000
OsZ0te2dE JY4ZEM2D! EX(S

28 n&el) 15,000,000 *2IH 2 30,000
OsZEitsatdg S4FEHMeI0 EX(=S

28 2322]) 15,000,000 *29H 2= 30,000
OsEitedg SYFEHeI10] EX(L

ot Es1el) 15,000,000 *2JH 2= 30,000
OsZ0tEdE JY4ZEM2PD] EX1(4

0l =2el) 10,000,000 *2IH 2 20,000

SEOSAEE B0 &XI(H

=2 0rs32l) 10,000,000 +27H 2= 20,000
OsZE0tsdg S4FEX0| EXI(2

g 22el) 15,000,000 * 100 A 15,000
OsZ0E2dE Y22 XY

S8 aF2el) 10,000,000 *2IH A= 20,000
OSZ0ISEE YAF2H2II| LX(Y

S 0taHel) 15,000,000 *29H 2= 30,000
OSZ0ISoEE YAFRH2II| LX(Y

sH S822) 15,000,000 *29H A 30,000
OsZ0EdE JYFEXM2ID| EXI(H

28 01=12l) 15,000,000 *2IH 2 30,000
OsEitsctdg J4FEH10 EXI(H

A% tHE12) 15,000,000 * 10 2 15,000
OsZE0Ed2 22D £X1(

g6 93812) 15,000,000 *29H A 30,000
OsZitsotdg J4E2Hel00 ERI(4

HH 9F2e) 15,000,000 * 104 15,000
OsZEitsctdg J4FEH0 ERI(4

% HE32) 15,000,000 *27H 2= 30,000
OsZE0Ed2 22D £XN(

H¢ 4382l) 15,000,000 * 100 A 15,000
OsZitsotdg 4FE2Hel00 ERI(4

9 gF311el) 15,000,000 *2IH 2 30,000
OsZEitscdg J4FEH00 ERI(H

¢ #E2el) 15,000,000 * 10 2= 15,000
OsZE0Ed2 JaFEXM2ID| £X1(

A8 2ii1el) 15,000,000 *20H 2 30,000
OsZEisotdg d4FE2Hel0 ERI(H

=9 Hade) 10,000,000 #2902 20,000

SEISAEE JAFEH2I10| &X(Z

=0 28?2c]) 15,000,000 *29H 2= 30,000
OsZEied2 Jad2HM2IPD| £X1(H

=0 852) 15,000,000 *20H 2 30,000
OsZEitsotdg 4dE2Hel00 EXI(Z

=9 @3H22]) 10,000,000 #2904 20,000
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2A:

B Hos A HUSA o As
el FYYEEI 2L (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEOSANE SAFEXM2II| LX(Z
=0 AE2e) 15,000,000 *27H 2~ 30,000
OsZE0teadg S4FEH0 EXI(H
=06 &) 15,000,000 * 100 A 15,000
OsZ0EdE JAFEXM2ID| £X(H
=8 A=32l) 10,000,000 * 1904 10,000
HE2SZHI(0ICIOEED) 35,196 30,531 4,665
[2ZHI(0ICIHE 2D 36,19 30,531 4,665
JI23Hl 35,196 30,531 4,665
201 et 3| 28,596 23,931 4,665
01 At 2|l 26,314 21,649 4,665
Oget=EH| 6,890,000 6,890
o=l 8,760,000& 8,760
OSAPI itz 310,000 1CH* 122 3,720
O8=J| itz 41,0003 #2CH+ 123 984
Oddg&H 42F F#4| 5,960
-2 Zeld 4,400
& 440,000 x1CH x4 523 3,520
= 440,000 «1CH 22 880
-T2 200,000 *3CH*23] 1,200
—+AX 120,000 * 1CH*32] 360
02 3224l 2,282 2,282 0
O8I =Y SAL+HI(0ICIOFL) 2,282
-CHIS AR 1] 1,300,000 *30CH*5% 1,950
-ZelH 4,000,000 *4CH*2% 320
—+AX 600, 0002 *1CH*2% 12
202 04| 2,400 2,400
01 =LHOLI 2,400 2,400
Obltindg2n =8 o
2,400,000 2,400
203 HE=AH] 4,200 4,200
M RFAZSLRFEI 4,200 4,200
ORNEgg =AY 350,000 x 12 4,200
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